
Boomerang RC Jets, LLC. 
Website: www.Boomerang-RC-Jets.com

Boomerang RC Jets, LLC.

Boomerang RC Jets, LLC. FOR ANY ACCIDENT OR LOSS, HOWEVER CAUSED.











1.25 metre extension









4x10mm Bolt

4x10mm Bolt

4x10mm Bolt

3mm Hex Wrench



19

2

2

2

4 x 15mm Screw

4mm Lock Nut

4mm Washer

Additional safety fitting to stabilisor

With tailplane (Stab.) firmly 
screwed down, pass a 3.6mm 
drill through the holes in the fins 
and drill a hole through the metal 
tongue projecting down from the 
Stab.  Remove the Stab and tap 
the new hole in the tongue out to 
4mm thread.  Repeat the 
process through the other fin.  
During assembly apply the 4mm 
X15mm bolt through the fins and 
the tongues and lock in place 
with the 4mm nylock nuts and 
washers supplied.  If a 4mm tap 
is not available drill the hole in 
the tongue out to 4mm and 
assemble the same way.





25

2

2

Cut off at the 
dotted line

4 x 15mm Bolt

4mm Mount Nut

4mm Mount Nut

4 x 15mm Bolt

24





29



IMPORTANT WARNING. 

READ THROUGH BEFORE ASSEMBLING OR FLYING YOUR KIT. 

Just as in any full size aircraft, any RIC model aircraft can be made to fail, be it a wing folding or a fuse­
lage breaking under too high a load. Model RIC aircraft have a maximum safe G limit. Because you are 
not in the plane it is difficult to judge the G during flight, and it is very easy to exceed the limits of the 
aircraft. This is particularly important if you install a turbine larger or more powerful than the power band 
specified for that particular kit. This negates any airframe warranty straight away. 

All our designs are thoroughly test flown before the kit is released for sale. Turbine powered RIC model 
aircraft are not manufactured to withstand unlimited G forces. When flying your Boomerang Jet, be 
aware of the high loads which can be in excess of the airframes capability to handle. Respect the 
airframe as you would when flying a full size aircraft. Fit a turbine only up to the specified power. 

Understand that if you perfonn a snap roll, wall, blender, knife edge loop or any similar manoeuvre, or 
pull hard on the elevator, particularly at high speed, you can over stress the airframe by up to15 G or 
more. At 15 G, the 27 lbs (12.2 Kilo) model effectively weighs over400 lbs (184 kilo), and though it may 
be for only a few seconds, the strain on the airframe is huge. Your model may survive those hard 
manoeuvres a few times, but eventually the cumulative damage will tell and airframe break up can 
occur. 

It is common practice for any manufacturer not to replace an airframe which breaks in the air or upon 
landing. Manufacturers may replace airframes when they have noticed many incidences of the same 
failure and it is detennined that there was a design fault or repeated manufacturing error. If you break 
an airframe, and you are the only one to do so, then it is highly unlikely to be the fault of the manufac­
turer. Fly safely, and avoid full throttle operation other than at low airspeeds. 

RIC model jets are not toys! If misused, they can cause serious bodily hann and property damage. Fly 
only in open areas, and AMA (Academy of Model Aeronautics) or BMFA (British Model Flying Associa­
tion) or your country's approved flying sites. Follow all manufacturer instructions included with your 
plane, radio, servo's, batteries and engine. Each kit is guaranteed to be free from defects in both mate­
rial and workmanship at the date of purchase. Warranty does not cover any component assembled by 
the customer. All parts of high stress must be inspected and reinforced if necessary by a competent 
builder. 

Some parts should be examined, and if necessary, glued again. High stress areas such as firewalls, 
motor mounts, wing mounts, landing gear mounts, etc., are areas of high concern. Seek help if neces­
sary. 

In no case shall Boomerang RC Jets, LLC. warranty cover any product which is not manufactured by 
Boomerang RC Jets, LLC. The liability to the manufacturer cannot exceed the original cost of the 
purchased item. 

Further, Boomerang RC Jets, LLC. reserves the right to change or modify this warranty without notice. 
In that Boomerang RC Jets, LLC. has no control over the assembly or materials used by the builder of 
the model during final assembly, no liability shall be assumed nor accepted for any damage resulting 
from the use of the final user-assembled product. By using the user assembled product, the user 
accepts all resulting liability. The kits manufacturers have provided you with a top quality, thoroughly 
tested kit and instructions, but ultimately the quality and flying ability of your finished model depends on 
how you build it. Therefore, we cannot in any way guarantee the performance of your completed 
model, and no representations are expressed or implied as to the performance or safety of your com­
pleted model. It is the use�s responsibility to inspect each component for airworthiness. 


	ELAN Manual.pdf
	E-1.pdf




